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1.

b

The diagram shows the female reproductive system of a human.
L)

in which part of ihe female reproductive system will the feriilised egg develop into
ababy?
(Y A

() B
3) €
@ D

The table shows the physical characterstics of four members in the Lim family.

Family member | Eye colour | Hair colour Hair type | Type of eariobe
Mrlim Black Black Wavy Attached
Mrs Lim Brown Brown __Staight Attached
Issac (son) Brown ___Black Straight Detached
Inez {daughter) Brown | Brown _Wavy Detached

- Based on the information in thé table, which of the following statemeni(s) is/are

correct?

A ez inherited her wavy hair from her father.
B Inezinherited more of her mother's {raits than Issac.
C  Bothissec and Inez inherited detached earlobes from their parents.

(1} Aonly

{¢) AandBonly
{3) Band Conly
{4 A,BandC

1 P5 Science EYE 2022
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The diagrams show the conditions which the identical seeds in set-ups A, B, C and
D were exposed to. Identical number of seeds were placed in each test tube,

28°C

removed

28*C 28°C

More papers available at www.testpapersfree.com

0°C

seed .
ol / =] , seeds\
waterwith —t=.= ¥ cotton ry moist
. ¢ ¥ cotton P
oxygen § 2o WOl v A { 2q, ¥~ cotton m@
wool wool
A B Cc D
In which set-up{s) would the seeds germinate?
(1) Aonly
{2y Conly
(3) BandC
(4) CandD
2 £5 Science EYE 2022
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4, Study the distribution of seeds of plants R, S and T in the diagrams shown.
wind direction wind direction Wi.nd direction
| X .x X Xx
: X X );( X " X X " X
seeds so——XyX " Xx 1%y X X X ox
(R m
XX, Xx % Xy X X b
X X X
X X x*X
How were the seeds of planis R, 8§ and T dispersed?
R s T

(1) Animal Explosive action Wind

{2) Explosive action Wind Animal

{3) Explosive action . Animal , Wind

{4) Wind Animal Explosive action

5. Which of the following is/are function(s) of leaves?

A Make food

B Takein water

£  Takein and give out gases

{1) Aonly

{2} AandBonly

{3) AsndConly

{4} BandConly
|
|
l
|
|
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6. The diagrams show four plants. |

Plant A Plant B Plant C PlantD

During a heavy rain, which of these plants is most likely to be uprooted first?

{1) PlantA
(2) PlantB
(3) PlantC
(4) PlantD
7. Which of lhe foitowmg function of 1he human body system is not correct?
. Human body system Function

(1) Skeletal system Gives the body its shape |
{2) 1  Digestive system Breaks down food into simpler substances

(3) Muscular system - | Enables the bady lo move |

Takes in oxygen and removes carbon djoxide
from the body a

{4) Circulatory system

4 P5 Science EYE 2022
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8. The diagram shows a human digestive systerm with some of its organs labelled A,
B,CandD.

The graph shows the amount of undigested food at various parts of the digestive
system.

F 3
Amount of |

undigssied
food

Food
samples’

Which of the following correctly shows the organ where the food sample was

obtained from?
“ Organ | Food sampl'e
(1) A R
(2) B )
(3) C Q
(4) D P

5 P5 Science EYE 2022
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9,
cytoplasm
(t)
@
(3}
(4}
10.

The diagram shows celis M and N.

cell membrane
nucleus

cytoplasm

cell
membrane

Coll M CellN

Which one of the following correctly shows the difference between cells M and N7

Cell M will be able to reproduce but not cell N. |

Call M will not burst when placed in water but cell N will burst wher{ placed in
water,

Cell N will be able to trap sunlight to make food but not celi M.

Cell N will only allow some substances 1o enter the cell but cait M will allow
all subslances to enter. 3

Which of the following statement(s) isfare true?

@
(3)
(@

Airig needed for living things to survive.
Less nilrogen is breathed out than breathed in. |
A runner produces more carbon dioxide during a run than when he is af rest.

Oxygen, carbon dioxide, water vapour and nitrogen enter the ﬁespiratory
system during breathing.

et s e .

A only

8 and C only
Aand D only

A, C and D only

6 P5 Science EYE 2022
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1.  The diagram shows the flow of blood, represented by the arrows, in the human
circulatory system.

| organ 'Y |

»

blood vessel Z

h o

organ W

blood rich in
carbon dioxide

¥
organ X

Which of the following best represents organs W, X and Y and the concentration
of the gas in the blood in blood vessel 27

Organ W Organ X Organ Y nggszeszow
{1} Heart Lungs Small intestine | Rich in carbon dioxide
{2} Heart Small intestine Lungs Rieh in oxygen
3 | Lungs Srhall Intestine Heart Rich in carbon dioxide
{4) | Lungs Small intesting Hear{ Rich In OoXygen
7 P5 Science EYE 2022
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12.

The diagram shows how water and substance E are transported to parts, A, B, C

and D of a plant. 1
A J-remeea :
5 Key
o 8 femmoe : —> water.
W ‘?\ : W m_——p SUbsta‘nce E
]
C f----- ved bmmenoe > D
What do parts A, B and C represent?
A B c
{1) Flower Root Leaf
(2} Leaf Flower Stem
{3) Root Leaf Stem |
{4) Root Stem , Leaf
|

8 P5 Science EVE 2022
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13. A stak of plant C was split inlo two as shown in the diagram. Each section was
ptaced into different coloured water.

cross-section MN

blue-coloured water —}- = red-coloured water

Which one of the following would be the observation made on the colour(s) of the
water-carrying tube, if a cut was made at section MN?

) (3)

purple
l

red N B blue

9 P& Science EYE 2022
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14,

185,

Four identical beakers, W, X, ¥ and Z, filled with the same smount of water were
exposed to different conditions as shown in the able. i

Beakers | W X y |  z
‘ Ceol | Cool Sunny Sunny
Conditlons | iy { Notwindy | Windy | Notwindy

Which of the following beakers will contain the least amount of water after one day?

{1} DBeskerW
(2) BeakerX
(3) BeakerY
(4) BeakerZ

The diagram shows a cup of hot coffee placed on the table,

; ?3—— white ‘cloud

Which of the following processes resuited in the formation of the white *lcloud’?

(1) Boiling

. (Z)Freezing. . A . w- . I T

(3) Evaporation
(4) Condensation

10 P5 Science EYE 2022
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186.

BP-~646

s Three identical beakers, A, B and C, were filled with egual volums of water of
different temperatures. The beakers were covered with identical fids and placed on

a table in a room with a temperature of 29°C. Water droplets were formed on cups
B and C are shown in the diagram.

water
ot S droplets -}

b ooy

bos aam

Heaker A Beaker 8 Beaker C

The graph shows the change in temperature in the water over a period of ime.

Temp%mmre

e Time

Which of the following beaker(s) contained water which had the temperature
change as shown in the graph?

{1) Beaker A only

{2) Beaker Bonly T I RN SR

(3) Beaker Conly
{4) Beakers B and C only

11 PS5 Science EYE 2022
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17.  Tina bought a hot plzza and brought it home, When she opened the box at home,  *
she observed that the underside of the pizza box cover was damp as shown in the
diagrem. 1

pizza box cover

damp

Which of the following would cause the underside of the pizza box cover to be less
damp’? :

A Use a metal pizza box.

B lise a styrofoam pizza box.

C Make holes on the pizza cover.

D Leave the pizza box cover slighily open.

{1) AandBonly
(2) CaeandDonly
(3) A, CandDonly
(4 A,B CandD

12 P5 Science EYE 2022
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18.  Alllson looks Into @ claw machine placed in a bright arcade room as shown In the
diagram:.

claw machine

clear glass cover

toy

Which statement explains why she can see the toys in the machine?

{1} The loy gave out light that entered her eyes.
(2) Most lght passed through the toys and entered her ayes. t
(3} Some light was reflected from the glass cover and entered her eyes.

{4} Most light reflected by the toys passed through the glass cover and eniered
her eyes.

13 P5 Science EYE 2022
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18.  The diasgram shows three objecis with the following heights and widtHs,

hollow
15cm 15om | 15crm} |
¥ ‘ )
“Toom e e
Disc Wooden frame ron rod

The objects were placed one at each position, X, Y and Z, from the torch as shown
in the diagram. The shadows were cast on a screen.

=13 X Y z
forch

screen

Which of the following are possible shadows that could be casted on the screen?

Shadow A Shadow B Shadow C Shadow D

(1) AandConly
(2 BandDonly
(3) A, BandConly
{4) B.CandDonly

14 P5 Science EYE 2022
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20,

Ben prepared an experimental set-up to find out the degree of transparency of
materials J, K and L as shown in the diagram.

=13 o -

torch light sensor

aterial

-

He recorded the amount of light that passed through each material over a period

of time in the table. He observed that the amount of fight from the lorch was
20001ux.

- Materfals ] “Amount of light {fux)
o 1000
L 400

Which graph shows his resulls correctly?

(1 (2}
Amount $ Amount 4
ofight |4 K L of fight
)
]
]
]
1]
]
T A e B K
1
[ 3
:; P " " "\l
Time o Time
(3) {4)
Amount 4 Amount 4
of light of light J
: J
o et | L
K e K
Time Time
15 PS5 Science EYE 2022
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21.

‘The diagram shows ice cubes in a cup of hot waler.

cup

ice cube

hot water at 80°C

Which of the following observations aboul the ice cubes is possible after a few

minutes?
Diraction of heat flow
Size of lce cubes .
From To
(1) Became smaller lce Water
(2) Became smaller Waler _  lee
{3} Remained the same Ice v Water
4 Remained the same Water Ice
16 P5 Science EYE 2022
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22.  Gordon has two bowls, A and B, made of the same matetial. He placed squal
amount of hot rice into each bowl. He could hold bowl A without faeling much heat
from the hot rice on his index finger but bowl B was too hot to hold,

- botfomn view

~ bowt A

e

Sttt |

L Which of the following best exptains why Gordon could hold bow! A without festing
much heat from ths hot rice on his index finger but bow! B was too hot 1a hold?

{1} Bowl Bis a poor conductor of heat.

{2) Bowl Ais a good conductor of heat,

(3) Bowl B is a good conductor of heat but not the bass of bowt A,

(4) Distance from the heat source to the index finger is furiher in bowi A,

17 P§ Sclence EYE 2022
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23.

Hasan has two coo.kfng pans stuck together as shown in the diagram.
@ @ | = —

Which of the following method(s) could he use to separate the lwo cooking pans
most easlly?

Hot water at 80°C - . het water &t 60°C

{1) Aonly

{2) Aand Conly
{3) BandDonly
{4) CandDonly

18 P5 Science EYE 2022
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24,  The diagram shows a closed circuit that consists of identical bulbs.

Wrr—
W
-

A , 8

C® D® |

Which of the following bulbs, A, B, C or D, when removed, will cause none of the

bulbs to light up?
1 A
2 B
3 C
4y D

L

25.  The diagram shows a closed circuit that consists of identical bulbs.

There was least number of bufbs that light up in the circuit when one of the swilches
was opsned.

TR Q-

-

Which one of the following switches was most likely to be opened?

()
@
@
)

T o m

19 5 Science EYE 2022
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28, Caleb carried out an experiment to find cul which matex.ia!s, Q, R or S, can conduct
electricity. He connected materials Q, R and $ 10 the circuit at positions 1, 2 and 3
respectively as shown in the diagram.

B3

He observed that only bulbs B2, B4 and B5 lit up. He then rearranged the materials
S, Q and R and connected to the circuit at positions 1, 2 and 3 respectivaly.

Which of the following bulbs would Jight up affer the re-arrangement of the

. materials?. . . - .-
(1) BlandB4
(2) B1,B2and BS
(3) B1,B4dandBS
(4 B3, BdandB5

20 PS5 Science EYE 2022
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27,

28.

The diagram shows how an iron nail was made info a temporary magnet using the
stroke method. A bar magnat was used {0 stroke the iron nail repeatedly in the
same direction thirty times as shown in the diagram.

bar magnet

nail

Which one of the following would increase the magnetic strength of the magnelised
iron nail?

(1)  Drop the iron nail multiple times.

(2} Increase the size of the bar magnet.

(3} Stroke the iron nail in the opposite direction fifty times.

(4} Stroke the iron nall in the same direction another fifty imes.

Thomas set up the following experiment to find out if strips P, Q and R were made
of magnstic material, He placed the strips between iwo bar magnels. His
observation are shown in the diagram,

— v_
el a
i HNl | NH N j B
: ; B
: g ‘i
; B
strfp P str;p Q strip R

Which of the following strip{s) is/are definitely made of a magnelic malerial?

{1) ShtipP only
{2) . Strip Qonly
{3) StipR only
(4) Stips P and R only

21 P$ Science EYE 2022
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29.  Thediagrams show the process of the male sex cell fusing with the female sex cell
in human and plant respectively.

~ pollen tube

cells

Human Plant

(a) State the process shown in the diagrams. [1}

{b) Explain why large numbers of male sex ¢ells are introduced into the female

reproductive system each time during the precess of reproduction. {1]
Score
2
Continue on page 23
22 PS5 Science EYE 2022
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Continusd from page 22

(¢} Which of the foliowing statement(s) describe(s) the simitarity between polien

grains and sperms? Put a (v) In the correct box{es). 1]
_ - Statement Tick {)
Both the pollen grains and -spams are produced by the :
fernale parts. |
Both the pollen grains and spems can move from place to
place on their own. _
| Both the pollen grains and spemns cary genstic information
that can be passed down to their offspring.
|
Score
1
23 PS5 Science EYE 2022

More papers available at www.testpapersfree.com

BP-661




30,  Study the two flowers, X and Y, as shown in the diagram,

{a)

(b)

(c)

Flower X FlowerY
Based on the diagram, identify the methods of poliination for flowers X and Y
by putting a (') in the correct boxes. 1]
= Flewer [y |y
Method of pollination —

' insect pollinated

Wind pollinated

State two characteristics of flower Y that enable the flower to be pollinated by
the method Identified in part (a).

2]
0
{it)
What does part P develops into after fertilisation? i1}

Score
4
24 P5 Science EYE 2022
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31. Paula poured 20ml of water into sach of the three test tubes X, Y and Z. Then she
placed Identical plants into each test tube as shown in the diagrams. The roots of
the plant in test tube X wers coated with wax.

Renis) Ry

&, D
Lo oit - =
£ 3 rools coated
] withwax
Test tube X Testiube Y Test tube 2
Three days later, Paula recorded the amount of water left in each lest tube in the
table shown. §
. Volume of water at the | Veolume of w;ter at the
Test tube start (mi) end of three days (mi)
X 20 20 %
Y 29 . {a) —
z ; 20 » 2

{(a8) What is the possible volume of waler left in test wbe Y at the end; of thres
 days? Write your answer in the table above, {1

- (b) Give your reason in your answer in {a).

{c) Noahiold Paula that she only needed to use two test tubes for her experiment,

Which two {est tubes should Paula use fo ensure a fair test? : i1
Score
3
25 P5 Science EYE 2022
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32.

Jana would like to find out if the size of the food substance affects the time taken
for it to be completely digested.

She set up three sel-ups, P, Q and R, with the same amount of identical fosd
substance and equal amount of drgestive juice, Set-ups Q and R contained the
food substance broken into smaller pieces as shown in the diagram,

- digestive juices

pieces of 0o, R
food substance {000
\Q.O /,

VLAY food substance
N

Set-up P Setup Q Set-up R
She recorded the results in the table.

-Setup - P Q R

Time taken for the food substance

to be completely digested {min) 40 25 8

(a) Based on the results, how does the size of the food substance affect the time
taken for the food to be completely digested? M

{b) Based on the experiment above, explain how chewing helps in ihe digestion
process, 2}

Score

3
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33. The diagram

(a) [nthe diagram, name and label the part of cell K that controls the colf activities.

shows cell K,

)

The diagram shows cells L and M from a plant,

Call M

v {b) Identify the part of the plant the cell came from and state a reason for your

answaer. {21
{ o | Partof plant the et foee a
Ceill | cell come from Reason for your answer
L
M

. Cell L was put in a solution.and.left for five hours. After five hours, it was observed
that the cell had shrunk as shown in the diagram.

(6} Which part of the cellis responsible for the shrinking of thecell?  [1]

Score 4

P§ Science EYE 2022
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34. The :iagrams show the different parls in the respiratory systems of a human and
a fish,

Human Fish

(a} Atwhich pant, A, B, C or D, does gaseous exchange take place in a human

and a fish respiratory systems? {1}

Human:

Fish:
{b) Describe how the fish gets oxygen for its survivai. {2}

Score
3
28 P5 Scienca EYE 2022
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35.  The diagram shows Carine's heart rete during her morming exercise.

Heart rate |

Time

(a) State the paris, AB, BC, CD or DE, of the graph that match the aclivities. [1}

Activity ‘ Part of the graph
Running

Brisk walking

(b} Explain why the Carine's heart rate decreases rom C to D during her morning

exerciss, 2]
Score
3
29 PS Sclence EYE 2022
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36.  Omarabserved the growth of four pots of identical plants, AeB, C and D, using the
same amount of identical type of soil. Differant parts of the plants were removed
as shown in the diagrams.

‘The plants were placed in the garden and Omar watered the plants dsily with the
same amount of water. He observed the plants over a same period of time.

8 .
Flowers were Most roots Fruits were Leaves wera
removed | were removed . ramoved removed

Omar recorded his observations and provided reasons for his observations in the

table.

{8) Puta tick {v'} in the box{es) that show(s} the correct observation and its
coesponding reason. i2]
Observation Reason Tick ()

1o i doas not have flowers for the plant to obtain
| Plant A dies | o otar for nutrients.
| it does not have enough water as most of the
Plant B dies roots have been removed. ‘
it does not have enough food as the fruits have
Plant C dles heen removed.
Plant D dies | it does not have jeaves to make food for the plant.

Score
2

Continue on page 31 :
30 P5 Science EYE 2022
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Continved from page 30

The diagram shows another plant found in Omar's garden.

(b) Draw arrows on the diagram above to show how water Is transparted to

frult A. ‘ i1
Score
4

31 P5 Science EYE 2022
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37.  Munsh conducted an experiment using two similar plants, P and Q, and marked
out two similar parts on the stem of each plant as shown in the diagrams.

Al the similar part of the stems of plants P and Q, Munah made a cui. The outer
layer of the stem at part X of plant P were removed, while half of the stem at part

Y of plant Q was removed.
removed
AN
. \,%
) el oi) pog— I -
outer layer of - AR = - half the stem
stem removed ' : removed
CEEEE EErre
Plant P PlantQ

waler-carrying gl
tubes ;

Cross-section of part X Cross-section of part Y

He then placed them each in a beaker filled with water. He measured the amount
of water in the beakers for a few days.

Continue on page 33
32 PS Sclence EYE 2022
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Continved from page 32

The volume of water in the beakers were recorded over afew days as shown in the
graph.

Volume of water 4
{mi)

> Thre (days)

(a) Which line, E or F, represents the change in volume of water in the beaker
containing plant P? Explain your answer. {13

After some time, ona of the plants wilted ang died.

{b) Which plant, P or Q, wilted and died? Explain your answer. B )
Score
3
33 P5 Science EYE 2022
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38.  The diagram shows a water cycle.

Water cycle

{a) What processss do arrows W and X represent?

W:

X

Continue on page 35
24
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Confinued from page 34 “
The diagram show set-up R that can be used to obtain pure water from sea water,
thermomeler : tt{emometer
test tube delivery tube test tube del i\+ery tube
sea water sea water cold wet cloth

pure water
Set-up R Set-up §

pure waler

Rahman suggested wrapping the delivery tube with a cold wet cloth, as shown in
set-up S, will Increase the amount of pure water collected in the test tube over a
pstiod of two minutes.

(b} Do you agree with Rahman? Explain your answer. i2)

The size of the cold wet cloth was changed as shown in set-up T. The temperature
of the cold wet cloth remaingd the same.

« thermometer
test tube delivery tube
sea water il cold wet cioth
pure water

{c¢) Wil the amount of pure water collected in the test tube over a period of two
minules increase, decrease or remain the same as compared to setup §?

Glve a reason for your answer. {2}
Scors _
: 4
35 P5 Science EYE 2022

More papers available at www.testpapersfree.com

BP~673




39 The diagram shows a steel bridge. One end of the bridge was fixed to the structure
while the other end was mounted on roflers. The bridge was built this way so that
the bridge will not break during & hot day.

Continue on page 37

" Structure —— |
(a) Explain why one end of the steel bridge was not fixed to the structure? {2}
Score
2
36 PS5 Science EYE 2022
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Contined from page 36

Bricks are used to build walls of houses. The diagram shows two different types of
bricks of identical size and material,

hollow spaces filled with air
-

Hollow brick Solid brick

The table shows the temperature of the surrounding air outside the house on a
particular day,

At 8am _At12pm

:Temperature of surrounding air 24 ' 26
outside the house {*C)

The walls of two identical houses were built using the different types of bricks.

The fable records the temperature of air in the houses at 8am and 12pm
respectively. T

- —
Type of brick used | Temperature of air in Temperature ei agirin

to make the walls the house at 8am {°C) | the house at 12pm {°C)
Hollow brick 24 28
Solid brick 24 . .7 3
{v) Using the data from the table, explain how using hollow bricks to build walls
of houses helps to keep the house cooler on hot days. {21
Score
2
37 PS5 Science EYE 2022
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40,  The diagram shows a toy car and circuit A which is found in the toy car.

speaker

switch

s | Speaker

Circuit A

(a} In the box, using the same efectrical components in circuit A, draw another
cireuit diagram that will increase the brightness of each of the bulbs. 12}

Score

2

Continue on page 39
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Continued from page 38

“;hhe same electrical components in the toy car are connected to form dircuit B as
Own&

switch :

{ Key:
ne Motor to turn whesls
:_!-: battery }
S s { Speaker
—)
Clrcuit B
(b} State an advantage of using circuit B. 1

3

Using circuit B, Elijsh declded to measure the brightness of the bulbs on the toy
car with differsnt number of batteries added to the circult and record the resull in
the graph.

Brighiness of 4
bulbs {units) |

L

5 3 > 5- -3 Number of bal:[nes

(c) Based on the information above, what happened fo the bulb when the 5%
battery was added to the circuit, Give a reason for your answer. 1]

Score
2
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41.  The diagram shows a teddy bear of mass 30g and a bar magnst of mass 90gon a
balance. Object G was placed below the bar magnet. It was observed that the rod
was balanced as shown In the diagram.

bar magnet
teddy bear. {90g)
(30g)
object G
What could object G be? Explain your answer. {2}
_ Score
End of Paper 2
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SCHOOL : RAFFLES GIRLS’ PRIMARY SCHOOL
LEVEL : PRIMARY 5

SUBJECT : SCIENCE

TERM : 2022 END-OF-YEAR

SECTION A

SECTION B

Q2%a) | The process shown in the diagrams are fertilisation.

Q29b) | To increase the chances of the nucleus of the male sex cell (sperm) fusing
‘with the hucleus of the female sex cell{egg). ~ ~ =~ "~ - el -

Q29c¢)

Statement Tick (\/ )

Both the pollen grains and sperms are produced by the
females parts.

Both the pollen grains and sperms can move from place to
place on their own.

Both the pollen grains and sperms carry genetic information | | Vv
that can be passed down to their offspring. n

Q302) | I Method of pollination \ Flower X Y

Insect pollinated 4

Wind pollinated v

Pg1
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Q30b) | (i) Flower Y has sweet, scented nectar.

(i) Flower Y has bright and colourful petals. .

Q30c) | Part P will develop into a fruit after fertilisation

Q31a) {10 mi

Q31b) | The roots of the plant in Y was not coated with wax and there was a layer
of oil on the water. Hence, roots of the plant in Y was able to absorb water,
resulting in greater decrease in volume of water than X but less than Z,
where there was a a greater decrease in water due to evaporation and
absorption of water by plant.

Q31c) |Testiubes Xand Y.

Q32a) | As the size of the food increases, the time taken to completely digest the
food substance increases.

Q32b) | Chewing breaks the food into smaller pieces, increasing the exposed
surface area of the food to digestive juices. Hence, the digestive juices
can break down the food into simpler substances faster.

Q33a)

Nucleus

Q33b) | Cell L: carie from-leaves of plant. Reason: has chloroplasts which
contain chiorophyll that traps light to make food.

Cell M: came from roots of plant. Reason: does not have chloroplasts but
has a cell wall.

Q33c) { Cell membrane.

Q34a) |Human: B
Fish: D

Q34b) | Water contains dissolved oxygen that enters the fish’s mouth. Oxygen is
absorbed into the blood as water passes through the gillis.

Q35a) | Running: AB

Brisk walking: BC

Pg2
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Q35b) | From C to D, Catine is slowing down. Thus, her heart rate decreases as
her heart is pumping oxygenated blood to various parts of the body more
slowly.to release less energy required by the less intense activity.

Q36a) Observation | Tick (v/)

Plant A dies
Plant B dies v
Plant C dies
Plant D dies v
Q36b)
y

.Q37a) | Line F. All the water carrying tubes.in plant P are present. However, half of
the water-carrying tubes were removed in B. Hence, P is able t§ transport.
more water. ' |

Q37b) ;Plant P. All of plant P’s for carrying tubes were removed. Food made by
the leaves could not be transported to all parts of the plant. Thé roots will
die, thus there will be no roots to take in water and plant cannot make
food without water.

Q38a) | W: evaporation
X: condensation

Q38b) | Yes, | agree with Rahman. The seawater gains heat and evaparates into

water vapour. The warmer water vapour will lose more heat to the cooler
part of the delivery tube covered with the cold wet cloth and condense
faster.

Pg3
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Q38c) ! It will decrease. The warmer water vapour is losing less heat to the
smaller, cooler surface of the delivery tube covered with the smaller piece
of cold, wet cloth. Hence, resulting in a slower rate of condensation.

Q39a) | The bridge gains heat and expands on hot days. When bridge expands,
the roller allows the bridge to slide and move. This, bridge will not break or
collapse.

Q39b) | The air in the hollow spaces of the hollow brick is a poor heat conductor.
Hence, it conducts heat from the surrounding air outside to the house at a
slower rate.

Q40a) r———O’/O @ -L

—Q—T

Q40b) | The speaker will be louder in Circuit B than in A.

Q40c) | As the electrical current flows through the circuit, the filament of the bulb
melted and the bulb fused. This forms an open circuit, preventing current
from flowing. . B L L T TR

Q41) | Object G could be a magnet. The like poles of the bar magnet and object

G were facing each other, causing them to repel as like poles of magnets

repel each other.

Pg4
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